Al g Ol &b Ak A M
20206 & 20l &F Y uHal
SH: BEMNLD
& 500 EX=
Z ;510 202 E3E
8 @ 511 2NLEIE (69 @2
SN-F-B-g-2 0l &k o8 B ol by Bl =2t
ES Al 2,597,000 754,000 1,843,000
Eag=lol =03 2,597,000 754,000 1,843,000
500 Ex = 2,597,000 754,000 1,843,000
510 = DEX3S 2,195,000 700,000 1,495,000
511 208X =3S 2,195,000 700,000 1,495,000
511-01 212X 3 2,195,000 300,000 1,895,000
OsScddg 24(BX) 200,000
OZ AN MY 1,995,000
520 Al - EHIE X3S 402,000 54,000 348,000
521 Al - SHIEXZ32S 402,000 54,000 348,000
521-01 Al - SHIE X3S 402,000 54,000 348,000
OH=0ISAIY 9,000
ot=#zd & g4 60,000
OEANMNY =& A 333,000




> A
A & 0l & AF 2 E A A
20209 &= =0l 4a LB H ZFENZ
A FEMHLL
Mo [ALAAE
©: XNFLAEIB =y (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Eag=loli=gn; 6,508,168 3,628,807 2,879,361
= 2,195,000
< 402,000
s 3,911,168
ANAgdds 1,269,000 1,749,000 A 480,000
= 200,000
< 9,000
[ia 1,060,000
N @IgE =4 1,269,000 1,749,000 A 480,000
= 200,000
< 9,000
[ia 1,060,000
TEYE MEAY 1,060,000 0 1,060,000
401 AIEHI L 2 CHYI 1,060,000 0 1,060,000
01 A& HI 1,020,000 0 1,020,000
RINSUAAZZHEIHE SPUHAE(=THES) &
Xl 1,020,000
02 2eltl 35,000 0 35,000
RINSUAZZHEIHE SPUHAE(=THES) &
Xl 35,000
03 Al S THHI 5,000 0 5,000
ORISAATBEIS LUAE (FXEH) &
Xl 5,000
HEOISAHY 9,000 99,000 290,000
< 9,000
307 21201 A 9,000 9,000 0
< 9,000
02 IAHFAAHFEX 9,000 9,000 0
OHS0HS AL (1EH2) 3,000,000& * 30H 2 9,000
< 9,000
scddd =5 (BEx) 200,000 800,000 600,000
= 200,000
401 AIEHI L 2CHEI 200,000 800,000 600,000
= 200,000
01 A& HI 200,000 800,000 A 600,000
Os&HAY ALH X7 JIEBHAIA 200,000
= 200,000
FOEHOSA XNGMHSA 270,632 567,702 A 297,070
U= NS 270,632 567,702 A 297,070
1= Fl 255,000 0 255,000
301 gEEd = 15,000 0 15,000
12 JIEBtE4 = 15,000 0 15,000
Osg8+=% = 24 15,000




A FEMHLL
HE: FOIBOZA XL AL
Sl RYAUS NN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 240,000 0 240,000
01 A& HI 240,000 0 240,000
O& =8 AHAI &X 12,000,000& = 2071 240,000
ANAEAE =2 15,632 10,404 5,228
201 L4l 3,500 0 3,500
01 At 22l 3,500 0 3,500
OFMALS U2442
70,000& * 10 = 53] 3,500
202 O4dl 11,232 9,504 1,728
01 = LH o4 1l 11,232 9,504 1,728
ONYLHYMLY =W 1,232
203 YR =2t 900 900 0
03 Al =AY R =& 900 900 0
OXNSLHZIMAIY =& 900
FHESZ A 497,060 349,738 147,322
< 60,000
[ia 437,060
PEs F=HEE =4 497,060 349,738 147,322
= 60,000
s 437,060
=2 ¢ 4424 200,000 0 200,000
< 60,000
s 140,000
401 AIEHIZ 28I 200,000 0 200,000
= 60,000
s 140,000
01 A& HI 198,560 0 198,560
ot=x"zz & dHx4d 198,560
< 59,568
e 138,992
03 AIE S THHI 1,440 0 1,440
ot=&82% 4 a4 1,440
< 432
i 1,008
A=Y 29 242,060 239,738 2,322
201 et 216,860 216,860 0
01 At 22l 216,860 216,860 0
OH=HZF2YE UM=SZHI 10,000
OABAE D s 22
144,092& * 1,388 200,000
OH=RAs &= 70,0008 * 20H » 43 5,600




PN oEHE D
Ha: EHSRHM
SRl ARE FAHBY E4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEEE EEr S EE RPN
70,000 * 99 = 23| 1,260
202 O4dl 24,300 21,978 2,322
01 2LH01Hl 24,300 21,978 2,322
OABFIIIAUY L BAMY 2 2,150
OAZA DY U HEEY 12,150
203 ¥ S =&l 900 900 0
03 AIZ=AH 2 =AH| 900 900 0
OAZHBAY XX 900
SSTE 22 40,000 20,000 20,000
402 RI2EX=20| M 40,000 20,000 20,000
01 2I2EH 2 A B (KM ) 40,000 20,000 20,000
Oz=s=8 22l XA 20,000,000& = 200 A 40,000
SEUEEHALY 15,000 30,000 A 15,000
402 RIZ2EX201 ™ 15,000 30,000 A 15,000
01 U2 EALE X (KA R) 15,000 30,000 A 15,000
@S ESia] 1,000,000& * 1500 £ 15,000
SANEE =4 4,436,556 927,453 3,509, 103
= 1,995,000
< 333,000
[ia 2,108,556
WPES SAEE =4 4,436,556 927,453 3,509, 103
= 1,995,000
< 333,000
[ia 2,108,556
SANIMZE X & KX 2e 50,000 100,000 A 50,000
401 AIEHI L 2 CHYI 50,000 100,000 250,000
01 A& HI 50,000 100,000 A 50,000
OZAINZES LAEX(60S) 50,000
SAFS L FHMY MEXNF E2FH| 453,240 201,440 251,800
401 AIEHIZ 28I 453,240 201,440 251,800
01 A& HI 450,000 200,000 250,000
OZ AKX M0l off & 60,000
OZANTY & FHHLAEXNR? 22+ 80,000
OXte & A 60,000
OFetd ZTAHEEZ 2= FH| 250,000
03 Al S THHI 3,240 1,440 1,800
OEAMNTY & =Y AEXNFT ==2FHl Al
A2 HHI(0.72%) 3,240
SAZeAHE 29 64,318 84,342 A 20,024
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L= B
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5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 43,600 40,960 2,640
01 AP 22| H| 21,600 18,960 2,640
OA&2IHE (SZDE
1,100,000& = 2¥ * 63| 13,200
OZHESIAS HALY
70,000& * 129 = 103 8,400
02 2224 H| 22,000 22,000 0
ORSHNMESHZ2ZEAMALKRS)ESXNEXF &
= | 22,000
202 o4 | 19,818 15,930 3,888
01 2Ll 19,818 15,930 3,888
O & Xl XA 9,450
O A A & Xl & A 10,368
203 ¥ 2 =&H| 900 900 0
03 Al ZH =& 2 = X H| 900 900 0
OJIBAIE RS A =& 900
SAIHE HEAAE(UPIS) SANE S 60,000 42,000 18,000
201 LBt ]| 60,000 42,000 18,000
02 2=2=2%H| 60,000 42,000 18,000
OZAHE HBAAEUPIS) SXNE 60,000
D22k 242 X2 270,000 170,000 100,000
401 AlEHIZL 2 0HY| 270,000 170,000 100,000
01 Al&H| 270,000 170,000 100,000
OZAIHEAELE 022X B3 270,000
NEAHOIEAE HH| 50,000 50,000 0
401 Al HI L 2 0HHI 50,000 50,000 0
01 Al& H| 50,000 50,000 0
ONEHER SANES 50,000
SANBE =4 5,798 85,368 NT9,570
101 e1214| 5,498 5,344 154
04 J|I2ZtHIZ22 NEES 5,498 5,344 154
OZAZ22 SA&e o8 68,720 * 80 5,498
201 gEt24H | 300 24 276
02 2=2=24%4| 300 24 276
OEANZE 2322 25,000& = 12& 300
ANEHOIE 43 37,200 94,303 A57,103
201 et 9| 37,200 46,200 A9,000
01 AP 2t 2] H| 8,000 15,000 AT7,000




EXN: FEHL
M TASE T4
Crel WS CAEY EH (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O25g&a BEaxNE
100,000 = 404 = 203 8,000
02 2224 4| 29,200 31,200 A 2,000
Oo0lstyd et d MI|=2 500,008 ~ 12€ 6,000
OXNEHUHHA EIR=2 100,000 * 12& 1,200
o8l MHEAHEE J1Y 550& * 40,000&H 22,000
S AR AE XS 100,000 100,000 0
307 giztol A 100,000 100,000 0
03 QI HEESIHIEX 100,000 100,000 0
OZAIHMIRAE &2F 24| 70,000
OZAMMIFNAH &4 XS 30,000
HOI AR22546 TRIYH 20,000 0 20,000
401 AlEHIZL 2 0HY| 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OFOtH ARP-25H T2 A 20,000
SATHY SEAY 3,326,000 0 3,326,000
= 1,995,000
& 333,000
= 998,000
401 AIEHIZL 2 0HY| 3,326,000 0 3,326,000
= 1,995,000
& 333,000
= 998,000
01 Al&H| 3,326,000 0 3,326,000
OlAts TAMY SSAIS 3,326,000
= 1,995,000
== 333,000
= 998,000
HHSAAY (g n) 34,920 34,914 6
J2ZH (ZEIHL D) 34,920 34,914 6
Jl22H| (FE D) 34,920 34,914 6
201 2yt 2 Y| 28,224 28,650 A 426
01 AP 2t 2] H| 28,224 28,650 N426
OJIE2x+=2l| 14,400
(OPIE=r=2=3:]! 13,824
202 o4 | 2,916 2,484 432
01 2Ll 2,916 2,484 432
OZg8gigy JI2gR=A 2,916
203 QIR =AY 3,780 3,780 0
04 EANSIELRF=XH| 3,780 3,780 0
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